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Second Year
(i) ENGLISH PAPER - 11

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Read the following passage and answer the questions :

True economy consists in always making the income exceed the outgo. Wear
the old clothes or little longer if necessary ; dispense with the new pair of
gloves ; mend the old dress, dine on a plainer food, if need be ; so that under
all circumstances, unless some unforeseen accident occurs. There will be a
margin in favour of the income.

(1) Where in the true economy?

(11) What are the three domestic things mentioned?
(111) What does the writer say?

(iv) Write the antonym of ‘exceed’.

(v)  Pick out the word from this passage which is the synonyms for ‘repair’.

Read the following paragraph and answer the questions by choosing the right

The press and public were all fire and fury, especially in America. A bill was
passed by the senate according to which the manufacturer of nitro-glycerin
would, in the event of an accident, be charged with murder and liable to be
sentenced to death by hanging. Britain introduced safety regulation which
amounted to a virtual ban on the import and manufacture of nitro-glycerin.
France and Belgium made the possession of the dangerous oil. Alfred Nobel
saw himself face to face the ruin. There was only one way out of the dilemma
; that of trying to solidify the oil so that it could be transported with absolute
safety.

(1)  Nitro-glycerin was manufactured by
(1) The Scientists
(2) The Nobles
(3) The Doctors

(4) Larsen.



(1) A virtual ban was put by
(1) Britain
(2) Belgium
(38) France
(49) America
(1) Nitro-glycerin is
(1) Medicine
(2) Dangerous weapon
(3) A dangerous oil
(4) Gun-powder
(iv) The man who tried to solidify oil was
(1) Larsen
(2) Pringle
(3) Nobel
(4) Alfred Nobel
(v) The press and public were all fire and fury in
(1) France
(2) America
(3) Belgium
(4) Pringle
Answer the following in not more than 100 words each :
(a) How did books enrich Keller’s life?
(b) Comment on L.A. Hill'’s views on Freedom

(¢) Why did Orwell change his mind and decide to shoot the elephant?

(d) What are the factors contributing to knowledge society?
Answer in about 200 words :

(a) What exactly is Man’s peril according to Russell?

(b) What are the principles of good writing according to L.A. Hill?

(¢) Summarize Gandhi’s experience as a student in London.



4. (a) Answer the following questions in about 100 words :
(1) Why does Ulysses want to leave Ithaca?
(11) What is India’s gift to the First World War?
(111) Write an appreciation of the poem “Mending Wall”.
(b) Explain the following :
(1 ‘Tam apart of all that I have met’.
(1) Good fences make good neighbours

(1) I fall upon the thorne of life ! I bleed !

5.  Answer the following in about 200 words :
(a) Write an appreciation of the poem “Because I could not stop for Death”.
(b) Browning’s “The Last Ride Together” is a dramatic monologue. Discuss

(¢) Summarize the poem, “Advice to fellow swimmers”.

6.  Answer the following questions in about 200 words :
(a) Explain how “The Lottery Ticket” is a study of human psychology.
(b) Describe the friendship of Subha and Pratap.

() Attempt an evaluation of the grain merchant’s character in ‘Diamond Rice’.
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1. Read the following passage and summarize it :

There are times when the night sky glows with bands of colour. The bands may
begin as cloud shapes and then spread into a great arc across the entire sky. They
may fall in folds like a curtain drawn across the heaven. The lights usually grow
brighter and then suddenly dim. During this time the sky glows with pale yellow,
pink, violet, blue and red. These lights are called the Aurora Borealis or the
Northern lights.

The solar particles from the sun enter the Earth’s magnetic field and collide with
gas particles in the Earth’s atmosphere. These collisions create the Northern
Lights.

The kinds of particles bumping into each other determine the colours of the
Northern lights. If the solar particles collide with oxygen, the lights produced
might be green or yellow. When the solar particles run into nitrogen, the lights
tends to be red or blue. How fact the particles are moving determine the size and
shape of the lights.

In ancient times people were afraid of the lights. They imagined that they saw
fiery dragons in the sky. Some even concluded that the heavens were on fire.

2. Write an essay the following :

(a) Advancement of science and Human life
(b) Communal harmony

(¢) Globalisation.

3.  Answer the following :
(a) Write a report on how you intend to spend your vacation.

(b) Write a report to the editor of a newspaper on Eve teasing in your area.

4. Use the following idioms and phrases in sentences of your own :
(a) Lion’s share
(b) Cake walk

(¢) Monkey business



(d) Better late than never
(e) A dime a dozen

() Beat around the bush
(g) When Pigs fly

(h) Best of both worlds.

5.  Answer the following questions :
(a) Write a letter to a friend inviting him to your hometown.
(b) Write a dialogue between you and a shopkeeper at a bookstall.

() Write a letter to a publishing house asking for a catalogue of its latest
publications.
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Answer the questions.

IR fazrd|

(a)

(b)

()

(d)

2. (a)

(b)

Sketch the character of Duryodhana as described in Urubhanga.
GAlEreR 2fte umIfRRT od ?

Sketch the character of Jeemutha Vahana as described by Sriharsha.
SfeaaTgerar 2ftet urfemol 5 2

Sketch the character of Baladeva.

TR A} e ?

Sketch the character of Sudama (Kuehela) as described in Sri Krishnasya
Maitri.

FoorR 2fte amIfRR $5d ?

Describe how Viswamitra attained the status of Brahmarshi.

faeanfnr: oo geafd: sreq ? faergad?

Write the substance of the story
“farat: Sso?
ferendtysafafer wemm: ARl forzrd 2



Explain the following with reference to context.
TeaTl AAeGH TR |

(a) TSI B |

(b) bl T UG AHATEHG TaId |
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(e)  STRIIT UfdcTGecla HfF: |

() ATeGIPA TITGEG GaTfa |

(9) ARG TGt TG FFeres: |

Write in brief note.
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1. Define and illustrate Alankaras.

AT AT FHAfeId T RIOT feria |
(@) I (b) PR
(© 3focazeam: @ 3

2. Write the forms of the following Sabdas.

forfdfie fasanRsy rsqmaTfon forera|
(a) STCHP (i) (b) T (V)
© I (aqef) (d) 3G (V<)

) F&H (v (Y ©® ag(g) (FaH)
(e) UG (M) (¥sdh) () B () (v

3. Write the forms of the following adding the given terminations.

FATCIIT ATt ferad |

(@) F+da (b) ST + A
(© @Y+l @ 3R+ g
(e) Sit+axa ® g+ad

(@ fa+for+wag (b) 310 + |



Translate Sentences into Telugu or English.
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1. v w ferger forlam)
(a) TIIaROT 3R vguw|
() fasmet 3 gifor-am|
(© 39T o1 BI-geriGr|
@) It 3R FAI
(e) SRASPIRI B IR

2. WIfEcy fdwy w forgy ferlau
(a) deemen Fretter WfEcar 6 wRa vafrdt W vaTe Sifere
(b)  PUIHTE AR B fIBRI TR TeBIeT STeid §U IRG b Hged TR HabIeT Sifey

(© e s wffrle sfd & w9 # [{Tart &1 gediee Hifm|

d) dch P TP W e o ol ITH SR WG Sif & TTel & forenfed
Hifom|

3. fomsifciRad 1 &1 fBoqt # 31efaTG Sifor|

Only the lazy man is a sinner. The idle mind entertains bad ideas. There is a
proverb that the idle mind is the devil’'s workshop. There is no greater sin than laziness
and inactivity. Every one should avoid these at any cost. The only way to avoid these is
to engage one self is good deeds. Service to patients, help to brothers and sisters, co-
operation with friends, respect and service to teachers are deeds in which men should
engage their mental faculties.
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MAXIMUM MARKS :30
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Find the equation of the plane through (4,4,0) and perpendicular to the plane x + 2y + 2z =5
and 3x + 3y + 2z = 8.
(4,4,0) DoY) Mo dEEI°, x + 2y + 2z = 5 DB 3x + 3y + 2z = 8 B0300K ©0ON &k

$e°D8 HMEE 0 EORCH0E.

Find the equation of the plane bisecting the acute angle between the planesx + 2y + 2z — 3
=0;3x+4y+12z+1=0.
X+2y+22-3=0;3x+4y+12z+1=0 oo DG Ko ©0)Eeadn DB oS 3D

S0h00 B, FEBEBRR E08°) 0.

Find the equations of the line through the point (1,1,1) and intersecting the lines
2x—y—z—-2=0=x+y+z—-1, x—y—z—-3=0=2x+4y—z—4.
(1,1,1,) Doty Howe 88 2x —y—z—2=0=x+y+z—1, x—y—z—3=0=2x+4y —

z — 4 BPOR POoGOD BAESENOD E8° 0.

Determine the equation of the sphere through two points (4,-1,2), (0,-2,3), (1,-5,1), (2,0,1) and
find its radius.
(4,-1,2), (0,-2,3), (1,-5,1), (2,0,1) DotoHe Ko D Ao X)fibéée?b& AB0D, T TGS

E08°) 0&.

Show that Lt, ., VN2 +n—n) = % using Sanwich theorem.
F0EDS DGPOBRND GHROD Ltne V2 +1 — 1) = ~ @ WrH0é.

Test for convergence : anxv (x> 0,a>0).

52— (x> 0,a > 0) ©DBeassH 58K DcDo30E.

xM+an
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MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Show that f:R —» R defined by f(x) =1if xe Q and f(x) = —1 if x ¢ R — Q is discontinuous for all

x€R.

f:R->R LX)?DOE’U"X)& f(xX) =1 xeQ 08050 f(x) = —1, x € R — Q ®o0d& discontinuous x € R. €

<3o°

S0&.

Discuss the differentiability of f(x) = |x — a| on R.
R 208 f(x) = |x — a] Bo¥), ©550I0HSD S8 0308

(a)

(b)

(a)

(b)

Obtain the equation of the plane which passess through the point (-1, 3, 2) and is
perpendicular to each of the plane x + 2y + 2z = 5,3x + 2y + 2z = 8.

(-1, 3, 2) Do) Ko e, x + 2y + 2z = 5,3x + 2y + 2z = 8. Hoden 30&0ed8 oo
€03 B0 SEBETR) 887,08

Find the equation of the plane which is perpendicular to the plane 5x + 3y + 6z+8 =10
and which contains the line of intersection of x + 2y +3z—-4=0; 2x+y—z+5=0.
5x + 3y + 6z + 8 = 0 SO0 o020 &0k, x +2y+3z2—4=0; 2x+y—z+5=0
BO3000 5 B EOR &0l Be0 BE), SWEGETY) 808° 0k,
y-2 _zz3 x72 _y-3

4

(1) Prove that the lines xT_l =—= =S ? are coplane. Find their point

if intersection and the plane containing the lines.

=2 PRS0 S Baven 568Oaimed $r008. 763 65 Do

2 3 4’ 3 4
K0T 3763 100G 66D B[ E08°) 08,
(11) Show that the points are concyclic (5,0,2), (2,-6,0), (7,-3,8), (4,-9,6).
1808 DotdHen S8arren e $rHod.
(57072)7 (27'670)7 (77'378)7 (47'976)~

Find the condition that the plane Ix+my+nz=0 may touches the cone
2x? — 3y? + z? = 0 and find the equation of the reciprocal cone.

lx+my+nz=0 es0d0 2x*-3y?+2z° =0 & FogHD 5)BowWensd DoDHDW
E208°) 0. 88 Bou) B, IS B0z BREBEaSN EX0S® 08



(a)

(b)

(a)

(b)

1
2n-1

(1) ProvethatS, =2 — is convergent.
1
2n—1

S, =2—

20 @RIB0EY w$Ie0d.

(11)) If{S,} i1s a Cauchy sequence then prove that {S,} is convergent.

{S,} ¥ Cauchy sequence @008 {S,} & @DIBOG BI°H508.

(1) Prove that the sequence S, = 1 + % + § +-+ % 1s not convergent.
Sp=1++7+ -+ oDIBoBD e srdoSod.

(11) State and prove D' Alembert's test.
D' Alembert's 9853 95390 dBroS0dk

(1) Prove that the function f defined on R* as f(x) = sin(%) for every x >0 1is
continuous but not uniformly continuous on R*.
x>08% f(x)=sinG) ™ R* D& dDosadED Savo f @YY, R* Docs
QLD @Yo 5D Brard)Babod.

(i) Discuss the continuity and differentiability of f(x) =x, x€Q and f(x) =1—x,
xeR-—0Q.
f(X)=x, xeQ 0830 f(x) =1—x, xeR — Q. H00HIW B8, @3&1356&@263 SoBosw
©IEOIADSD $8y0B0G.

Interpret Rolle’s theorem geometrically. Discuss the applicability of Rolle's theorem for

2
flx) = log;(a:a:) in [a,b], a > 0.

5°6y derosed3 amRodah e B0, a > 0 ©and [ab] & f(x) = log ;(;“:) SR0LDE

8°Sy Ao (DA DHBOWOZN.
o]
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Discuss the stages of Indian National Movement.

ARleT3 &“@o?xr"é?s;ﬁ)m DAY KFOD 1:589012&);3.1).

Trace the importance steps in Making of the Indian Constitution.

P8 TGOl SAPBE™D S0PgTOR BLOHI.

Discuss Directive principles of State Policy.

ToPAGRHB00 B0, eBE W@ K378y 58 y0w5030.

Write an essay on Powers and Functions of the Lok Sabha Speaker.

8323 ?oo)é5 BT, VP &8 TG0 [FPADod.

Powers and Functions of Election Commaission.

o)i)olée) D500 9835PTren 8L Deven.

Examine the functioning of Supreme Court.

Ro[08°) BB $B3DoB0.

Explain the powers and functions of Governor.

K;SGQE, QSPTPR0, DO DHIBOWIS.

(DPOL 21)
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Political Science

Paper II - INDIAN

GOVERNMENT OF POLITICS

MAXIMUM MARKS :30
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Explain the Federal features in the Indian constitution.

BB ORVE’D DTy OEETOR IHBORHW.

(DPOL 21)

Discuss the recommendations of the Sarkaria Commission on Centre-State Relations.

oS - TR ¥oW0GTERD HT°),B0Ir DN BoY), AR SBYoBB.

What are the factors that are influencing the voters in India?
Q0GOIS” £08D (987°D%0 I3 oTPen IN0ES?

Write an essay on regional political parties?
@rodoh oo 8o K80 a8 DTGB EPaDLS.

Write an essay on secularism in India.
PESBIOS D FEEIBR0P 2.8 T§0 [FPAL0IN.

(a)

(b)

©

(d)

(e)

®

(2

Home Rule Movement

B K eatdg00

National Development Council
AL ©DHB 20cd

Rajamannar Committee

Oee30T™5 E063

Independent Judiciary
R5°§oti>r‘o’°gp éséOLé

Constituent Assembly
U%f’eso?ﬁ 985

Amendment of the Constitution

U%f’eso?ﬁ DB

Lok Sabha Speaker
&S558 y56



7.

(a) Answer in 1 or 2 sentence.

(b)

(@)

(i1)

(iii)

iv)

)

(vi)

Pressure groups

(D80 HTe0

Directive principles

e333BE Qe |@ren

Governor

K;%&s

Voting behaviour
£,.630N (5385

Janasena

B0

Article 356
356 ) 988

(vil) Vice — President

&5-ToR5D

(viil) Premble

(ix)

(x)

58%

Right to property

es

e

%),

Oppsition parties
(HOE =G

Answer in 1 or 2 words.

(@)

(i1)

(iii)

iv)

370 Article
370 |88

Agrarian movement

B estsgamen

Rajya Sabha

B.J.P.
288D esdee avg
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Explain the distinction between economic growth and economic development.

585:3)8 080k e85 DHB S G Bopin.

What are the causes of poverty of India?

PrEBBF0S DEBSRS Mo SPEETe) BevEw.

Examine briefly the achievements of five year plans in India.

PrEBBFOS” HoBSS (DETVEL D3SO KPomr 588 oSBL.

Explain the features of the new industrial policy 1991.
1991 S5r8S BEPR0E DEPS0 AT, OFEFOD D3B0L0E80.

Critically examine the role of land reforms in the India Economy.

rEBBFOS” GIrRH0R,BE0 B DSGT IO $BIDOBISW.

What are the causes for inequalities in income and wealth distribution? And
explain the measures required to reduce inequalities.

3P HODEO H0DBS® IFIPIBOL) EETOL @@D), €9:9530° B eﬁﬁo{joe) ENISRvRIN
B0 DSBOLS0.

Describe the significance of small scale industries in the India economy.

GrOBEE €588 S3NE’ DY) BENO PEESES DIBoSB.

Write about the sources of agriculture finance in India.

GrEBBFOS” BB DEO e3rTrOD 180D (FAIS.
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. What are the defects of agriculture marketing? And suggest remedial measures.

ISP S37°8,B0rHERD SO B, DTTED BBV DIDOLIS.

Explain the role of IMF in the Indian Economic development.

BB @@9@&5@@6’5 eﬁoécg@ojo (B3R (e (B DI3BoBS0.

Human Development Index.

SRS 0D DL,

Advantages of capital intensive technique.

SWPOES O[3 658 HPE HOI°eTeD.

Balanced growth and unbalanced growth.

$0EOS 35§ 508050 B0BDS .

Socio Economic objectives of Five Year Plans.

S0BSY (Serdse €8s, RPOVE OF (0.

Balance of trade and balance of payments.

TS HOBIOBB 8% DY 3.

Causes for unemployment.

RBE TR S Been.



